1638402 16 N4101

8.

Explain the working of a full wave bridge rectifier .

Derive the expression for efficiency. 6

e guf a3 9o fiscadrt & & gomeft a1
ATAT X | 4T & oIy oSS YT I |

OR (3121an)

Discuss the terms :
(1) Ripple factor
(i1) Ripple frequency

o1 Y @t fad=eT R

(1) Raa s
(2) Rua smgfea

What do you mean by tunneling . How a tunnel
diode works? 6

cAfef T @ 3y T gHs 21 Ub eAd
SIS fhd YR S &l 2 |

OR (3121a1)

Discuss the construction of a PIN diode . Draw the
symbol and describe the working.

floaNgoTH0 SIS & §-[ac &I fad=ar & |
saHT Rigel 991 dAT 39D BRAYUITAT BT
quf Y |
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2019(Even)
Time : 3Hrs. Sem - IV/ ECE
CC&M
Full Marks : 70

Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 4 1352 |
Answer all Five questions from Group B, each question

carries 4marks.

9B & @t ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all five questions from Group C, each question

carries6 marks.

7u-C & wift ufg yeal @ SR <, UAS U &1 99 6 b 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP Ued & 9 39T BT SR TP &) S8 (AR HH H)

BT A1y, =92 4 Sifd -8l oI 9ad 2 |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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OR (3121an)

What are the electrical properties of dielectrics?
Discuss the factors affecting dielectric strength.

wRideggdl & e o sa-aa 9 2
gRdeld wfd (Gred) & yHIfad &= ardl
HR®I DY fad==r & |

What are the uses of transformer in electrical and
electronics? 4

faerda vd sdagite § giaeriR @«
SYINT 87

OR (3121a1)

What are the advantages of integrated circuits ?

g<cics dfbe & T o9 27

Explain the working of a half wave rectifier with
circuit diagram. 4

U g av’ fasea™) & &1l @) agredn
gRuer NG & 1A BN |

N4101

(i)

(iif)

(iif)

(iv)

3 1638402

Udh 200 ¢4 Hsoll BT W—UIH 10 mH
2 911 9l uql & 99 YEd gy afe
A & " I @) S @ SHat
WU T 8|

(31) 2.5 mH

(€) 5 mH

(|) 20 mH

(?) 40 mH

Which inductor is linear
(a) Air Cored

(b) Cast iron cored

(c) Sheet steel cored

(d) Iron alloy cored

e A @i a1 9ve Nag 2
(31) arg PR

(d) BT ITRA B

() Me— i IR

(]) smaRA s a1g SR

Which material among the following possess
excellent dielectric properties and good
reliability for use in making capacitor.
(a) Silicon Monoxide
(b) Silicon Dioxide
(c) Tin Oxide
(d) Chromium Oxide
P.T.O
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(xx)  Photo masking process in IC fabrication.
(a) Is used to remove selected regions of SiO,
(b) Forms an insulating layer which prevents
diffusion in selected areas
(c) Control the depth of diffusion
(d) None of these

(xx)  3JMgodlo & FHIVT # yYFd wIcHIRSGT

(31) g7 gy &A1 9 Si0, &I geH H
AN BT 2 |

@) g 8¢ &=l 4 SR &I AP >
fag ST wa gATar @

(@) feRsH &) Tevrs & FrRafa sar
gl

() 379 9 ®Ig 78

GROUPB
Answer all Five Questions.
aft ufg gl & SR T
2. Describe the properties of nichrome with its use.

4
ATgHIA & IO BT 94 39D IUANT &
1T &N |

5x4=20

N4101

(vi)

(vii)

(vii)

(viii)

5 1638402

e qu &1 a9%d gas 2|
(31 RS=<rfid

(@) wafefafad:

(|) urfrafaefdr

(2) ufq asp ot v

The ripple factor of a bridge rectifier is
(a) 0.482

(b) 0.812

(c) 1.11

(d) 1.21

o fau fesead™l &1 Rue o grar
2 |

(31) 0.482

(9) 0.812

(@) 1.11

(]) 1.21

Tunnel diode

(a) Is a power diode

(b) Has light doping

(c) Has heavy doping

(d) Is a reverse recovery diode

P.T.O
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(xvi)

(xvi)

(xvii)

(xvii)

10 N4101

A solder in an alloy.

(a) Tin and Lead

(b) Lead and Zinc

(¢) Zinc and Copper

(d) Copper and aluminium

ATesY U st o1g 2 |
(@) & d oS

(@) oS ud o

(9) STdr U4 didI

(g) drar va vegfaftram

The resistance of metallic wire would.
(a) Increase as f increase

(b) Decrease as f increase
(c) Remains the same for all frequencies

(d) Increase with f up to a certain frequencies
and then decrease

grg 9 99 dR &1 gRRig

(1) amafa (f ) 967 & 4rA dgar 2 |

(@) amgfa (f ) 9e7t & @rr Hear 2 |

(@) i smgfoat wR ye W ghar 2

(?) agfa de wR v Fif¥aa angfa
a® dgdl & 3NX b ge ohrar 2

N4101

(x)

(xi)

(xi)

(xii)

7 1638402

] SwanT | AR e golf o=
fesed™l @1 o 4 IR sElsl |
fafffa e faor fascsl &1 yq@ o
2 |

(31) S=a gRT 98- &HdT

@) = fie g1ad e

() =1 Ruer gonis

(]) S=a <&dr

Si diode is less suited for low voltage
rectifier operation because.

(a) It can not withstand high temperature
(b) Its reverse saturation current is low
(c) Its cut-in voltage is high

(d) Its breakdown voltage is high

1 Al faeadRl @ MRIE & foru

fafers srts 9 Suyda & | 6

(31) ¥ S=a dr9 TE G GhdT 2 |

(@) sHaT FYopd AqW gRT = gan
2|

(|) SUBT Hc—39 dlecs Sod BIdl 8 |

(]) sH®T 9% SIS dleco S@d ghdl @

The main reason why electrons can tunnel
through a P - N junction is that

(a) They have high energy

(b) Barrier potential is very low

(c) Depletion layer is extremely thin

(d) Impurity level in low

P.T.O
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10. If o, is the temperature co-efficient of a resistance

at tIOC and o, is the temperature co-efficient of a
resistance at t°, C, then prove that its temperature

co-efficient of resistance a,, will be given by
expression o _ _ % 6
T+ao(ty-t)

afe a,, t,'C W) gfeRier &1 a9 [one @ IR
o, t,C R UfRi" &1 a9 [onsd d g &
f ufeRier &1 a9 e o, d1 GHHT

az = a’l gTTIT I
1+0L1(t2—t1)

OR (3121a1)

Calculate the resistance of a wire at 50 C which
1s 300 m long and has an area of cross section of
25 mm. The wire is made of Aluminium. Resistivity

of Alat 15’ Cis 2.78 Q m . Temp co-eff of AL is
0.004 Q/°C

300 Hiex @& U4 25 firflo Uz @I
A% drl R & YRR B 50° C R TUET
P | AR TR &1 997 g3 2 |
vegfifraa & gRRigddr 15°C 4R 2.78 Om
2 Ud dIgsHH UNid 0.004 Q/ C 2|

P.T.O
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